

$$\prod_n^{\prec} \underline{\mathbb{Z} \Gamma \mathbb{Z}n} = \frac{(x_n + \mathbb{Z}n)_n}{m \prec n \curvearrowright m \prec x_m - x_n} \subset \prod_n \underline{\mathbb{Z} \Gamma \mathbb{Z}n}_{\text{fin}} \text{ cpt}$$

$$\underline{\mathbb{Z}}^p = \prod_i^{\prec} \underline{\mathbb{Z} \Gamma \mathbb{Z}p^i} = \frac{(x_i + \mathbb{Z}p^i)_i}{i \leq j \curvearrowright p^i \prec x_i - x_j} \subset \prod_i \underline{\mathbb{Z} \Gamma \mathbb{Z}p^i}$$

$$\underline{\mathbb{Z}}^p = \frac{\sum_i^{\mathbb{N}} a_i p^i}{a_i \in p}$$

$$0 \leq x_n < p^n$$

$$x_n = \sum_i^n a_i p^i$$

$$\underline{n=1} \quad 0 \leq x_1 < p^1 = p \Rightarrow a_0 = x_1 \in p \Rightarrow x_1 = a_0 p^0$$

$$\underline{1 \leq n \curvearrowright n+1} \quad x_n = \sum_i^n a_i p^i$$

$$0 \leq x_{n+1} < p^{n+1}$$

$$p^n \prec x_{n+1} - x_n \Rightarrow x_{n+1} - x_n = a_n p^n$$

$$\begin{cases} x_{n+1} \geq p^n > x_n & \Rightarrow 0 < x_{n+1} - x_n = a_n p^n < p^{n+1} \Rightarrow 0 < a_n < p \\ x_{n+1} < p^n > x_n & \Rightarrow \overline{a_n} p^n = \overline{x_{n+1} - x_n} < p_n \Rightarrow a_n = 0 \end{cases}$$

$$\prod_n^{\prec} \underline{\mathbb{Z} \Gamma \mathbb{Z}n} = \prod_p \underline{\mathbb{Z}}^p$$